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1. No hypothesis can be stated 2. @dc'it‘:\l ‘1?6(1% e ernns AT TR
10 UV terms .
HigdT 3d .
(A) directional
(A) TR
(B) declarative
(B) STHEUMCH
(C) null and interrogative
(C) T ST J¥ATCHSR
(D) general
(D) 9E=
2. In order to enhance the accuracy of the R. TIMEATET STehal AT US|
study the researcher - ;
(A) Should increase the size of his sample
(B) Should be honest and unbiased (A) T SATRR HSAT AHUT ST
(C) Should keep the variation high SIEE
(D) All of these (B) ST o qaishag o 3T =
(C) GRMEATHED 3= U dfaed 31707
(D) SRIeTUsh! T
3. Aresearch Problem is one which clearly 3. IS U9 FHIMHT G
seeks a relation between :
T AU T Shial ?
(A) Logistics
A) o RASRR
(B) Researchers @A)
B) TeTe®
(C) Hypothesis ®)
C) TRHeTT
(D) Variables ©
(D) TRET / =eT (R NTeew)




4. The selection of cricket team for the ¥. Toveeye fohehe Wﬁﬂ'@%%ﬁv‘é#ﬂﬁ
world cup is called :

o o o) o) o)
BECIEAUEINICIRCINSIGEEA RIS IRG Ll

(A) Random sampling e Tegdt amoRTEt e,
(B) Systematic sampling (A) W:pfn
(C) Purposive sampling (B) AT FHAT
(D) Cluster sampling ®) W'T‘:H
(D) FALI FHAT
5. Open-ended questions provide . Hﬂﬁl%lﬂ'qqﬂi'@ﬁ A UTH
primarily.......... data. EXGIG
(A) Confirmatory data (A) AT Tt

(B) Qualitative data

(B) TUTCHe Hifel
(C) Predictive data (C) gk Tfe
(D). None of the above

(D) SRIoTUeh! SHIEET Tl

&. W HIUH ¥ 0o T TRIHel @&
A T QW% TSN FeT e df Arehed
forepdl. R Grrehet fafshei ferea fopt,

6. Man buys a cycle for Rs. 1400 & sell it

at a loss at 15%, what is selling price of the

cycle

(A) 1090 Rs (A)R0%0%
(B) 1160 Rs (B) &0 T
(C) 1090 Rs (C) 220 T

(D) 1202 Rs (D) 3R %




7. The “Swachh Bharat Abhiyan” campaign
was officially launched on:

(A) 4 Dec 2014
(B) 2 Oct 2014

(C) 30 Jan 2015
(D) 1 May 2015

8. A research selects only 10 members from
the total population of 50,000 as a sample.

His research can be considered to be good if
(A) He was a good researcher

(B) He was guided by his superior

(C) The Population was homogenous

(D) All of these

Q. hypothesis is
aproposal based on specific observations.

(A) Directional
(B) Null
(C) Deductive

(D) Inductive

. TS AR HIEH SIFAT0] &
Bl

(A) 4 Dec 2014

(B) 2 Oct 2014

(C) 30 Jan 2015

(D) 1 May 2015

¢. TG THUT 40,000 ARHEAT

AT hales {0 TAehie THAT e hotl.

ST YHTE FIME A ATl S35 Ik

(A) I Teh IATAT G 3THA

(B) AT FeAT SIS ANISY &,

(C) ATHEET Ueh S9! 3T

(D) I1 T

Q. e IR g [aRTe
FRieuTeR e T 3T,

(A) oS
(B) Frer

(C) SFTHHTHE
O YERIR:ED



10. Survey study aims at:

(1) Knowing facts about existing situation

(ii) Comparing the present status with the

standard norms

(ii1) Reviewing the existing situation

(iv) Indentifying the means of improving

the existing situation

(A) (i) and (ii) Only

(B) (i), (ii) and (iv)

(C) (1), (ii), (iii) and (iv)

(D) (ii) and (iii) Only

11. The Scheduled Castes comprise
about......... of India's population.

(according to the 2011 census)
(A) 16.6 %

(B) 25.19 %

(C) 22.23 %

(D) 29.22 %

Ro. HOIETUT STHITAT i &4 HaAeTuT
3T I AR,

(i) forermm aRfRerdt s/t de oy oy

(ii) Sufed =t Ares Rreten qerr
FHT

e o

(iii) ST IR SATeTen

(iv) Taerm aRiRerdt quRvaTaSE are
IO

(A) (i) and (ii) Only
(B) (i), (i1) and (iv)
(O) (1), (i1), (iii) and (iv)

(D) (ii) and (iii) Only

22, U] TRUATIR S eI STt

ARG JHTIT (R022 T STOFTHIER)
(A) 28.8 %

(B) R4.2R %

(C)RR3I %

(D) RR.XR %


https://en.wikipedia.org/wiki/2011_census_of_India

12. Indentify the Correct pair from the
following:.

(A) Ubuntu -Operating System
(B) Excel-Word Processing Software
(C) AVI File Transfer Protocol

(D) HDD-Cloud Storage Facility

3. The process of marketing segments of
data with symbols, descriptive words, or

category names is known as............

(A) Grouping

(B) Coding

(C) Coloring

(D) Segmenting

14. Where is the headquarters of
International Air Transport Association
(IATA)?

(A) Germany
(B) Switzerland
(C) Canada

(D). France

3R, WTEATCTUhT AN STE! Se3a

(A) IS TR Tafeen
(B) THITT- TS T TSR

(C) AVI IS ZHE T

(D) HDD FoTS RI3R hiFaiie!

23. Gehtold HIEdH Hiehideh Mo,

SUHTCHER 1% Tohall THEaTaeh I168 JUATE

(A) T TR 00
(B) Heheileh ol
(C) 33 FHY0l

(D) faamT agur

R¥. STARLIT TATE B Hee—d
AT S 3T 7

(A) ST

(B) Rersrers

(C) &Sl

(D) 1



15. The average of 20 numbers is zero of
them at the most how many may be greater
than zero

(A)0

(B) 1

(C) 10

(D) 19

16 . Before demonetizing Rs. 500, Rs. 1000
notes on 8th November 2016, Indian
government had demonetized Rs 1,000, Rs
5,000 and Rs 10,000 notes in which year?

(A) 1964
(B) 1978
(C) 1972

(D) 1986

17. Pre-testing of investigative tool is done

in the case of:
(A) Observation
(B) Case study
(C) Interview

(D) Questionnaire

. T RS I ST AT

g ATUeT Tohel! Hid 3T Iehara.

(A)0
(B) 1
(C) 10
(D) 19

R&. ¢ TR R0%E TS Yoo & Qooo TAT
ST T FHIOAT SATAT AT TR THRA
Wm?ﬁ' 000, Looo g Qo000 & [

AIET & shedT &l

(A) RR&Y
(B) 2Rw¢
(C) RRWR

(D) 2R¢&

Q9. el TeaT FRUATHIS =T |reHT ga

STIUTT SHIOTeAT TEE AT Shedl ST ?
(A) Frdteror
(B) ST 3T

(C) HetiEd
(D) F¥TEA



18. The International conference on ‘Bharat
Bodh’ (Idea of Bharat) was held in which
city?

(A) Pune

(B) Mumbai

(C) Chennai
(D) New Delhi

19. Which State Government has made
mandatory for all private schools to install

solar systems ?
(A) Punjab
(B) Haryana

(C) Rajasthan
(D) Madhya Pradesh

20. Lactometer is used to measure :
(A) Density of sea water

(B) Density of Milk

(C) volume of Milk
(D) Depth of sea water

R¢. TR Y (STATSAT ATH TR) 3T

TIYATeR TR USE hioTeT I
o a o

SIS shed! Al 2

(A) IO

(B) HsE

(C) =8
(D) et fEeedt

9%, Tl TR IMMBMAT | A0 T
FUITHIST ShIUTT T FLHI e
el 2718 2

(A) 9T

(B) sR&mT

(C) TeTe=

(D) HE9RIT

R0, ATFEHALH I HIY °|'7{U¢I|~H|dr\|

EIREGIGE

(A) THSTET qToT= e

(B) ST e
(C) ST ORomH

(D) GHRTAT UToT=l el
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